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What is the benefit of using a 2 

dimensional array over a 1 

dimensional array 

What is a URL What are some examples of access 

rights that can be used in 

authentication 

What is the advantage of using 

Extended ASCII over ASCII 

What is the 8-bit binary 

representation of the decimal 

number 15 

Which SQL statement is used to 

update/alter data that is already 

stored in a database 
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What is the benefit of using a 2 

dimensional array over a 1 

dimensional array 

 

A 2 dimensional array is beneficial 

over a 1 dimensional array because 

it allows us to store data in a table-

like structure with rows and 

columns, which can be more useful 

for certain applications. 

What is a URL 

 

URL stands for Uniform Resource 

Locator, which is simply a web 

address used to find a website. 

What are some examples of access 

rights that can be used in 

authentication 

 

Limiting access to various parts of 

the system, requiring passwords, 

and limiting login attempts. 

What is the advantage of using 

Extended ASCII over ASCII 

 

Answer: The advantage of using 

Extended ASCII over ASCII is that it 

can represent all characters for the 

English language. 

What is the 8-bit binary 

representation of the decimal 

number 15 

 

The 8-bit binary representation of 

the decimal number 15 is 00001111. 

Which SQL statement is used to 

update/alter data that is already 

stored in a database 

 

UPDATE. 

 


